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Constructions for Frequency Hopping Patterns

Having An Optimum Hamming Correlation
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FHMA (Frequency Hopping Multiple Access)
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< Frequency Hopping Multiple Access>

OO0l 4 q =6 & user
CokAHo| 20| L =6 . user 2
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o TTL A o = O| =L A=
< Ut ESFIHE 8 4 E et ==tA8 P
g BTl 4 (E 220 AE)
L: SOHHE(SZ)2l 20],
N: Eorpgo 4
tEFUt==q0l HSot= gl &= &2+ X2F Yo &2
X =(x(0), x(1), x(2)---,x(L))
Y =(y(0), (1), ¥y(2)---,y(L))
X%} YO| Al Al 2tsk=s
H o ()= hix(j)h y(j+t)l, 0<t <L -1
J=0
0 if x # y
o = h[x,y]={
XC| XD|at2tet== 1 if x v

L -1

H  (t) = hlx(j)rx(j+1)] . 0 <1 <
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H(X)= max {H,(c))

<t <L-1

H(X,Y)= max { H , (t)}

0<t<L-1

M(X,Y)=max{ H(X), H(Y), H(X,Y)}

— T =

HE 22 X9 yIl S&6l= 2= X'9F Y0l THoHO
M(X,Y)SM(X,Y) <
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(Definition)

H,(F)=max {H (X))

H  (F)=max {H(X,Y); —

Y # X

H o (F)=max{ H,(F), H (F))

(Bound)
H__(F)> £— L
q N

H . (F)2[log «(LN)|-1
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<EM2 TOHTHE &7 2 >

DHE 0|28ty

L =g¢q, g 1s a prime. l<i<g-l

N =gq -1 [> 0<i<q -
F:{X13X27X3’”.Xq—l} |

H_. (F)=1 X . (t) = (it mod q)
(Gl Al q=7, L=7, N= 6 t=012345

6
X,(H)=(¢ mod 7) X,=0123456
X,(H)=(2tmod 7) | X,=0246135
Xy()=(3tmod 7) | X,=0362514
X,(H)=(4t mod 7) | X,=04 15263
Xi()=(5tmod 7) | X;=0531642
X (H=(6tmod 7) | X.=0654321




2UAD 0l B

L =qg—-1, g is a prime.

0<i<gqg-1
.’ 1 <t < 1
o is a primitive root of GF( q) [> =1=49q
F= i, X0 X X X.(t)=({a' +i)mod q)
Hmax (F):1
(Gl X0 g=7, N=7,L =6, o =3 t=123456
Xo(H)=((3*4+0) mod 7 ) X,=326451
X =((3'1) mod 7) X,=430562
X,(t) = ((3'+2) mod 7) X,=541603
X5(6) = ((3'+3) mod 7) X;=65201 4
X,(6H)=((3*+4) mod 7) X,=063125
X5(#) = ((3'+5) mod 7) X;=104236
Xs(6) = ((3'+6) mod 7) X,=215340
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g=2k, H_(F)=2""
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= COFTHE AHA] B

( Define )
* X =(x(0), x(1), x(2),...,x(L - 1)) : M-sequence over GF(p), L=p"-1
F ={Y,, Y, ,Y,, Y, _} : RN, N=q=pF*

* Y, =(»,00),y,1),y,2),...0,(j)s-y,(L=1)) :vuserl E4t4<

= HE Kk (k<n)Ol 43I v .(J)E TS 2001 2 & 4 QUL

2 ».()H=2 (x(j+i)+v)p" (mod q)

i=0

XHEHS jBHM EARH kHE v EH2 mod p= G EHLY.
pll=Epkdil==2 ZHetetlh



P=3, k=2 <n=3 Cl A, qg = p*=9, L= p"- 1= 26,
N=q=9 F={y,,Y,,Y,,....Y,} H_ (F)=p"*=3

X =00111021121010022201221202

Y,=03441654751310688237857262
Y —14552735832421766048638070

5168265754100372062313

Y —82006510316268544723413757

If v, =Y, v=4=1x3"+1x3! — > v=(v,,v,)=(, 1)
Y4(0) = (x(0) + vy) x 3° + (x(1) + v,) x 3' mod 9 £4)
Yo = (x(1) 4+ vy) x3° + (x(2) + v,) x 3' mod 9 =7)
Y,(2)=(x(2)+v,)x3° + (x(3) +v,) x3' mod 9
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e RS-code= 0| Z20ot= gt

a = GF(@)2 A2 (H qg= p™, pisaprime.) (n=g¢g-1)

I 2 3i ni .
e, =(@,,o0o",a,-,a™), 1=0,1,2,---k

E= [ n, k+1, n-k | Reed-Solomon = < O] Cl.

E:{ka,.e,.| x, € GF (q)}

Definition
© E'==380Z SS& ESHe HESZ RH=E 50 &E
S E"=E'0AMUWEFINNU=s BE=(@q) : q
SSHE B5 &Moot =2 20|l (L): g-1=n
== 520 +HO| = (N) : |E”
= XM H HE ZltHat2tgt H_ (F)=k
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E'EF
E"s V 9%

=g Vs g Hdotes &8

(D) 128 kMK E=S0M g1t M2 201 =2 == MO0|ct ot
Ol&=i, =1<1i, <iy- <i, ctotkt

@) b,,b,,b,,-,b, S GF(q) &0 A 00| OrL! 21 2| °| MK O| &1 A2} 5K

G V(l)={xeE|x, =b} (recall)
V(2)=ixeE|x, =0, x;,, =b,}

V() ={xeL|x =x_ =0, x, =b,}
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V(M)=<{er|xl=xl.2
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a |E

O4IIA. Blg)=g-10]5tLt9] A=

2|V|=q — q

1 (==1<k<B(q) 9@ 4)
g —

T L= Al®H ¢-2 0]

g-10] =IH0[ &2 A0l 2ol L=

HAHB =5 HME

S AQIA0|M 19+ &S 2HO|Ch
o (OIM 1)
g It 22=01%, k=101 |E"|=|V|=q OICH

V=V(1)={xek|x=x,e,+be,}
leth, =1, a =3

x=x,(1,1,1,1,1,1) + (3,2,6,4,5,1) = x_ (?) = x,

o (O 2)

g=70lHA, g-1=6=2 -30[1]

, B(qg)=2 0|
= k=12 k=20ll T3t} |E"|=

=2 o=
V|2 ei=s

OII

Ck.
HCF.

ei :{ai,a2i,a3i,.”,a6i}

+o' =3 AI20|=E
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OteHOl /=2 Ofl CHet &lef FE BCIC &gt E'= Otelfof] 2¢2l 25259
S 2= &3l&EZ (Cyclic Permutation)Z OIS K 2, & & E"
= OIHE=2 49 EsH==2 0|=0{ &L},
Classes of period 1 :
(000000) (111111) (222222) (333333) (444444) (555555) (666666)
Classes of period 3 :
(241241) (352352) (463463) (504504) (615615) (026026) (130130)
(653653) (064064) (105105) (216216) (320320) (431431) (542542)
(CIasses of period 6 (Nonperiodic classes) :
(326451) (430562) (541603) (652014) (063125) (104236) (215340)
(560622) (601033) (012144) (123255) (234366) (345400) (456511)
(031163)  (142240) (253315) (364426)  (405530) (516641) (620052)
E" < (202334)  (313445) (424556)  (535660)  (646001) (050112)  (161223)
(443505)  (554616)  (665020)  (006131)  (110242) (221353)  (332464)
(614046)  (025150) (136261)  (240302)  (351413)  (462524) (503635)
\ (155210) (266321) (300432) (411543) (522654) (633065) (044106)
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o (WAM3) g=7, k=1, n=qg-1

@ e={’,a',a’,---,0’}, a=3

user index x=m(1,3,2,6,45)+u(1,1,1,1,1,1)
message symbol € GF(q)

m=20 1 2 3 - 5 6

user 0 | 000000 132645|264513 32645\ 451326 513264 645132
user 1 I11111 243056(305624 [430562\ 562430 624305 056243
user 2 | 222222 3541601416035/ 541603603541 035416 160354
user 3 | 333333 465201|520146{ 652014 (014652 146520 201465
user 4 | 444444 506312| 631250\ 063125] 125063 250631 312506
user 5 | 555555 610423042361 236104 361042 423610
user 6 | 666666 021534153402 15340 340215 402153 534021

o (OlAl4) k=2

@ e, + e@—> resynchronization is good




° (n qk)'_JI\_(DE:I Olgtél|

o (n,k)-=Z82 A2 ThE IS &= 0,1,2, ..., kn-10{ CHst
&= & (permutation) a, a,, a, ... ,a,, Ol TS =24 S BHE 6L
n it k= 22|10 20| M==2f St [ & S ( a., aj)(Hl CHAH A a/n i aj/n ol

2t &2 H =S(comparable)otCil GFAY,

(1) aj,aya; ...,a, =0,1,2,...,kn-1 S &5 8t HA ALS et}
(2) 2 0h=ol=E 2 st d Ol ol M 2HY (ag,q, ag)

OF=BHC).

o (k)220 FO0IXIS, 0|2FEH 20/Jtkn +1 0D AZ q=kn+ 12

XS5l BHH A AFR G FICHAIRZH0] 100 nIH2) £ 2 X ErS &)
F
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Ol et ot ), K+1JH 2| n-tuple ®IEHE GF(q) FI 0l A LS 2t 20|

£ =V
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